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PART 1  transcription 

The same character of Old Hanzi may own several transcriptions(隸定形) for some reasons: 

First, different scholars should transcribe(隸定) different transcriptions. 

Second, some transcription is considered right at a certain period but wrong at the later 

period. 

Third, strict transcribing or not will bring different transcriptions. 

We need not code all transcriptions. So submitting a transcription should be a very cautions 

working. The following principles of coding a transcription should be followed: 

1. The transcription which is correct should be coded. (The transcription which is obviously 

wrong should not be coded.) 

2. The transcription which is wrong but used quite frequently should be coded. 

3. The transcription which is wrong and seldom-used should not be coded. 

4. The transcription according with the modern habit of writing should be coded. 

For example: 

1. The transcription which is correct should be coded. (The transcription which is obviously wrong 

should not be coded.) 

90 UTC-01402 ⿱网䜌  

 



Obviously,  can not be the transcription of .  should not be coded. 

 

2. The transcription which is wrong but used quite frequently should be coded. 

69 UTC-01381 ⿱止它 

 

 

 is the transcription of .  is 止(toe).  was regarded as 它(它→蛇 snake) but 

now we know that  is 虫(worm). So the correct transcription is  or U+27258�.  is 

the variant of 止 when it is at the upper part of a character, just like U+97CB 韋 . More 

importantly, now we know that  is the earliest written of U+821D 舝 so that using  but 

not 止 can descript better the relationship between  and U+821D 舝. 

But since 1930s,  has been used in a lot of publications. So it is necessary to code . 

 

  



  

 

3. The transcription which is wrong and seldom-used should not be coded. 

168 UTC-01480 ⿰牜⿸户甫 
 

 

Guditu Lunwenji is an old book published in 1977.  is the name of some place and rarely 

mentioned. In Changsha Mawangdui Hanmu Jianbo Jicheng (长沙马王堆汉墓简帛集成) 

published in 2014,  has been changed to U+246D1�. So  should not be coded. 

 

 

4. The transcription according with the modern habit of writing should be coded. 

① 

61 UTC-01373 ⿱？戈 
 

 is the transcription of .  at the lower part  is U+6208 戈 and  at the upper 

part of  is upside-down U+6208 戈, just like U+22A0B�. U+6214 戔 is the more normal 

transcription, also accords with the modern habit of writing.  should not be coded. 



 

 

② 

334 UTC-01646 ⿰馬⿱口土 
 

 is the transcription of .  is a strict transcribing of . But  in Chu(楚) 

character is U+5448 呈 in modern writing. For example, the transcription of  is U+90E2 郢 

and more strictly , the most strictly . But obviously,  and  are not 

necessary to be coded. So  should be coded more than . 

 

More example: 

3 UTC-01315 
⿰正

正 
 

 

IDS is wrong. The 

right one is ⿱一⿱

止止. 

→一 

4 UTC-01316 
⿰�

朿 

 

 

It is not a accurate 

transcription. 

 should be 

transcribed to 

U+20094� or 

U+2AA72 . So 

 is U+2B85C

.  

朿 is the 



transcription of 

. 

8 UTC-01320 

⿱八

� 

 

 

It is actually 

U+2B92E  

which is from ZJW. 

、

 

127 UTC-01439 
⿰寻

某 
 

 
The right  is 

not 某. 

146 UTC-01458 
⿰币

甾 

 

 

 
The right  is 

U+5E00 帀  but 

not U+5E01 币. 

150 UTC-01462 
⿱

凹？ 

 

 
unify to U+24261

� 

 

158 UTC-01470 

⿱⿰

其凡

女 
 

 
unify to U+21827� 

 

226 UTC-01538 
⿱止

壬 

 
 

The lower part of 

 is U+2123C� 

but not U+58EC

壬. 

272 UTC-01584 
⿰匀

犬 
 

 unify to U+80B0肰 

 -Kangxi然 



335 UTC-01647 

⿰丨

� 

 

 
It is the lower part 

of U+25AEA � . 

So the shape 

should be . 

339 UTC-01651 
⿱安

口 

  

The transcriptions 

of  and  

are not very 

accurate and 

seldom-used.  

340 UTC-01652 
⿻女

丶 
 

 

346 UTC-01658 
⿱之

叹 

 

 The difference 

between  and 

 is 口

(mouth) in  

but 言 (talk) in 

. 

The transcription of 

 is U+8A69

詩  so that  

should be 

U+20C7E�. 

 

 



PART 2  OTHER PROBLEMS 

1.⿰禾羲 

 

 

 is a wrong character in the evidence. We provide three evidences to prove that the correct 

one is 黎. 

       

 

This problem is a common typesetting error. For example: 

 

 is a wrong character. The correct one in the original source(蔡文—the paper of 蔡哲茂) is 

愈: 

 

 



2.⿰扌衰 

 

 

 is a wrong character in the evidence. We provide two evidences to prove that the correct 

one is 榱. It is easy to confuse 木 and 扌. 

  

 

 

3.⿱�蜓 

 

 



 

 is a wrong character in the evidence. The correct one is ⿰虫筳. 

 


